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Timmy works 8 hours/day. He does not work Sundays. He makes $2016/week.
How much does he get paid an hour?

n = number of daily hours 	h = hourly wage  		d = # of days worked 
w = weekly pay
[bookmark: _GoBack]n(h)(d) = w   or  h = w/d/h
-------------------------------------------------------------------
8h x 6 = 2016




                                  n(h)(d) = w
(8)h x (6) = (2016)
        8h x 6 ÷ 6 = 2016 ÷ 6
      8h = 336
       8h ÷ 8 = 336 ÷ 8
        h = 42


∴ Tim gets paid 42 dollars an hour.
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